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Cluster: 0014 ptr; resid: 0.30; r/c: 28/47

x.range

upstream meme PSSM #1; e=6.8e+04

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=2.2e+05

1 3 5 7 9 11 131 3 5 7 9 11 13
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10988

12043

12577

15060

20547

31906
31997

32775
33783

35332

35579

36289
42262

42712

42807

43024

43588

44297

44551

45080
45834

45921

46825
46898

51761

54503−54751_ATP

9323

rpl2
−500 −400 −300 −200 −100 −1

42262NA
54503−54751_ATPNA

rpl2NA
43588−0.01
45834−0.01
46825−0.03
36289−0.06
31906−0.09
51761−0.20
45080−0.22
15060−0.27
12577−0.42
35332−0.45
45921−0.56
12043−0.79
33783−0.84

9323−0.89
42807−1.84
44551−1.84
42712−1.86
32775−2.04
35579−2.65
31997−2.90
44297−3.04
46898−3.13
20547−3.22
43024−4.50
10988−7.59

log10(P) upstream meme1 2 log10(P.clust)=−1.58; 28 seqs; 26 uniq
c(0.5, 2.5)
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